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. Part A

Answer all the questlons
Each question carries 1 wezghtage

= L. Whatis Income Elasticity of demand ?

Explmn opportumty cost principle with an~examplg. _ |
“What is loss leader pricing ? s |

et s sat by National Teome ?
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. What is break-even point ?

S U e

What is Price discrimination ?
\ 6x1= 6 weightage) -
Part-B 5

Answer any four questions.
Each question carries 3 weightage.

7. Explain the various methods of estimating National Income.

; DiéCﬁss the uses of break-even analysis.

stcuSS the various measures that can be taken by a firm to counter act the evil eﬁ‘ects of atrade
cycle.

16. ' Explain price rigidity under oligopoly in terms of Kinked demand curve,
11. Explain different types of Inflation. : S\ i

12. - Explam the Law of demand with help of demand schedule. Mention the exceptlons to. the law ;>f
"demand.

4x38=12 wéightage)
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- Explan:rthe characteristics of different’ tYpes ‘o Market Structures
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Part C

Answer any three questions.
. : : = .
Each question carries 4 weightag FREEE Y

The Production managor of a company estimates that -thelr P?Oducnon it
characterized by the following short run production function :
Q = 72x + 15x2 — 3,
where Q = tonnes of production per year
A x = Units of variable iinput per productlon period.
Answer the followmg questlons  aws
() Determine the equation of MP and AP of the variable factor.
(i) What is the Margmal Product when seven units of the variable lnPUt are emp loy ed 2

t

-(iii) What is the maximum output capablhty per year ? ?

Explam the various methods of demand forecasting. . E e Mol
‘Describe the law of vanable proportlons and mentlon its importance in production. ~

Explam the. dlﬂ'epence between a shift in the supply curve and a moment along the supply curve. . ‘

_ (3 x 4 = 12 weightage)-
Part D ’ e
Answer the compulsory questwns
6 weightage.

In India biscuits-are produced by several small and big manufactures, including Britannia, ITQ
foods, Parle and Priya Gold among several others. : = ’

- Production of biscuits requires inputs of raw materials. such as wheat 011 and sugar, The cost ‘ f
0

these would go up by 10-12 percent every year. Consequently, bis
) cult mdust
high input cost. Continuation of the cost pressures would imply increase in the p:ié)sa:fs‘zs through
fact, Surya Foods and Agro Ltd (Makers of Priya Gold) already announced Sy ranlscuﬂ; In
ging: om

Rs. 7 to Rs 5 on the packets. Likewise Parle also increased Rs. 2toRs. 2.5 per kg,

Questions :
(a) How do you analyze the cost—pnce nexus in biscuit 1ndustry ?
(b) What is the general nature of demand for blscults in Indla 2.

(c) What accordmg to you are the reasons

for chan n e ~
biscuit industry ? Justlfy your answer, gm'g vcos_t Rl Struoture of an Indian

6 Weightage)
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